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IO RADERSI

IO ALZARSI

TU LAVARSI

LEI ALZARSI

TU SPOSARSI
VOI LAVARSI
LEI RADERSI
LEI SPOSARSI
LORO SEDERSI
NOI VESTIRSI
VOI RIPOSARSI
NOI DIVERTIRSI
LEI SVEGLIARSI
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Il presente (reflexive verbs)
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TU SEDERSI

IO LAVARSI

TU RADERSI

LEI SEDERSI

VOI SEDERSI

VOI ALZARSI

TU RIPOSARSI
LORO ALZARSI
VOI VESTIRSI
LORO RADERSI
IO SVEGLIARSI
LORO STANCARSI
LORO SVEGLIARSI
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TU ALZARSI

IO SEDERSI

LEI LAVARSI

IO VESTIRSI
NOI LAVARSI
TU VESTIRSI
LEI VESTIRSI

IO RIPOSARSI
VOI SPOSARSI
LEI STANCARSI
LEI RIPOSARSI
LEI PETTINARSI
LORO DIVERTIRSI
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